AN

e MED
A Hi

SKEBHRL 7)1

v - 7 n K
al 3 ‘1‘73 o f

ol s N

B

[ ]
—
SUS/INOK

BCF.M 38 e 25980

T

CF.M CF.VM

2 el R=F (mm) HEATE EAREE =X RIFER HIETETRES =X RE
ﬂfﬁ)& — Lo BOAR | AFEE * RN
mm \ ]
ERS5hE R250(CF5) R500(CF6 ~ CF10-1)
@ | fd | A m B OE I &8 E|l & | & |t & ON | 2
Is f Cr Cor B E5NE | BRTESMNE] g
JAN R E R s .
h7AZE | TEHE | TRHE | TERHE | TEEHE D C |d G Gl | Bl | B2 GININISRE S ¥ ¥ N rpm 5 \ N-m k)
CF 5M CF 5MUU CF 5MR CF 5MUUR 2 880 2 540 1420 29 000
5 _8.012 13 9 5| M5x0.8 75| 23 |13 0.5 /3.1 |03 9.7 2250 530 2 10.5
CF 5VM CF 5VMUU CF 5VMR CF 5VMUUR 4 690 5060 1420 11 600
CF 6M CF 6MUU CF 6MR CF 6MUUR 3330 3330 2110 25000
6 _8012 16 11 6| M6Xx1 8 28 | 16 06 |4 03] 11 3430 1080 3 18.5
CF 6VM CF 6VMUU CF 6VMR CF 6VMUUR 6 400 7 840 2110 12 000
CF 8M CF sSMUU CF 8MR CF 8MUUR 3960 4330 4710 20000
8 _8015 19 11 8| M8x1.25 |10 32 | 20 06 |4 03] 13 4020 1370 8 28.5
CF 8VM CF 8VMUU CF 8VMR CF 8VMUUR 7 470 10270 4710 9000
CF10M CF10MUU CF10MR CF10MUUR 4950 6310 6 860 17 000
10 _8015 22 12 |10 M10x1.25| 12 | 36 | 23 0.6 |4 03| 15 4700 1670 15 45
CF10VM CF10VMUU CF10VMR CF10VMUUR 8740 13 340 7 450 7 500
CF10-1M CF10-TMUU  |CF10-1MR CF10-1MUUR 4950 6310 6 860 17 000
10 _8015 26 12 |10 M10x1.25| 12 | 36 | 23 0.6 |4 03| 15 5490 2 060 15 60
CF10-1VM CF10-1VMUU  |CF10-1VMR CF10-1VMUUR 8740 13 340 7 450 7 500
* RZEHE, EFRBEER. MREHER, KRRKAFERZIZEER 130%. SNERE (um) ks
HEATHE, BEADZHER 0% ] B &4NE RESNE ‘
CF5M,CF6M 0/-8 0/-50 s m
CF8M,CF10M,CF10-1M 0/-9 0/-50 RE
LoopiES TEENIR T
crM — SRS
CF6M/CF8M/CF10M/CF10-1M i 4 [EhES

234 NOSE SEIKO CO.,LTD. NOSE SEIKO CO.,LTD. 235





